I
1
]
=
!
T
F—

et

T

3 1

FAST WATER DRAIN




D (1842

79.6x63,2x14cm

ol | — &

x1

FASTENERS

M4 * 40 (23 PCS)

WOOD PIECES

N>
&
i
il
1]

N
2|
I
i




Assembly Instructions

M3 * 30 (12 PCS])

M4 * 40 (8 PCS)



Ms * 40 (7 PCS)

M4 * 40 (8 PCS)



R

M4 * 25 (4 PCS)

Eﬁ?‘“\\\\“\‘

|

\\é%

yanuuuingy




